
For the forces shown in the figure, find 

Example 

a) the magnitude of the resultant R, and
b) the angles 0x, 0y, and 0z between the line of action of the resultant and the coordinate axes. 

'X 

"" 
J; 

-

F = IO�� · co� r, 7 . 
I\ ,,. 

lO · �·,Yl l, 7' \c.. l ,t 01 �
:: �.Gto, 1 ,, + q.zos... 

,.. 
- . �

+ '2 0 5�\'I G,0. \c.

.... 
(2 

b) 

::. 

'f = 61 + w· cos�
'1, 

,: ,I; � lO j 

3,qo7 " 

l: o � R "' ''z
( R)C' + r---J � r > 

:::-lzB. es-�N J 
...... �_;;;;::::; :�� ' .. -· . \ 

l r

e � (CJ$. 
�( l �1�) -== C0'::>-1

X 

C-6�-\ ( e-,IC?-) �e ': 
\ I 

J 

e � Co'3:' C Rt/F.\ :::.
I< 

'f. 

Wt-4-k'T \5 E. =?
� 

� A 

l 7. �2 l F-

to� 
1 t' 2 6. 52.G,

(_ 3. °Jo 7 I Z 8. r:s,) = 

( lO / 2.. B,G:>) =-

C 2 �- s / z s.�) ==

g2 .l 0 

..

e,9.S 0

� 

1.2,\ 0 ◄ 



_______________________________________________________________________________
Example 

Find the magnitude and the direction of the resultant of the two forces shown. 
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